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4 2 42
(1) as = , as=[7 | awg=[ b+ | TH53.

(2) agio = 5N ThHB. %
(3) p, q%p<\q?&?ﬁf:'@“29m$*ﬂt'¢é. apg = pg— 11 MBI T2HLE, p=[= ], ¢=
Thb. “+

M N=10tFEFI3L Fof N 1x10H 0T, Q1=

n=2 L2 %0T, Q4tQ2=2 -~ R2=1

n=3 +« 1e3 < a1+03= 3 S Q3=2

n=4 = {y2c4 2 Qu+02+04=4 ~Q4=2

n=§ =+ fes5 2 MTAas=5 -~ Q5=4

n=é6 + l{v2v3eb » Ay+A2*+R3+Qs =6 -"a5=2’

AR Q=6 , Ri+An+Qeqg=49 &Y, R4q=42 3

(2) Qi+ Q5+ Qg2 +--+ A58 + Q500 = 5
LT, QU+ As+Qsr e+ Q509 = 597 &Y, a5'°°=5wo"5qq:ﬂ.,,
(3 @y+0p=P, Ay+ag =9 &Y. Ap=P-1, Ag=§-1
Ri+ap+0g+apg =P§ . Qpg=Pg-P-F*1
Pe-p-g+1 =pPg-1 &) PH§=/2

poopumetr ¥ ) (PF)=(5.7)
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